R#ETFAN XFRX BE Fv9L 01

1. XoXzEHHTX. (SH18FH, A5, B4, CH14y)

(1) 2a(a — 3b) (2) (z+2)(x +5)

(3) (x+3)(x—3) (4) (a+ 3b)?

2. ROXZEMETX. (S35, Afks508, Bf143208, C#k24)

(1) —a(a+2b—rc) (2) (22 + 3y)(2x — 3y)

(3) (5z — 3y)? (4) (2a + b)(2a — 3b)
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3. ROXZEHE L. (SH18F, Afk25, Bi40®, C#H147)

(1) 3a(4a — 2b) (2) (x+4)(z+5)

(3) (z+5)(x—5) (4) (a — 4b)?

4. RoOXEEHT L. (S35, Afs508, Bf143208, C#k24)

(1) —abc(a — 2b + 3c) (2) (42 + 3y)(4z — 3y)

(3) (7Tz — 3y)? (4) (2a + 5b)(2a — 3b)
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REFAN XFX BE VYL 01 BE®H

1. XoXzEHHTX. (SH18FH, A5, B4, CH14y)

(1) 2a(a — 3b) (2) (z+2)(x+5)
=2a? — 6ab =x24+Tx+ 10
(3) (z+3)(x—3) (4) (a+ 3b)?
—22_9 = a? + 6ab + 9b?

2. RXOAXZEHHE L. (S35, Afs508, Bf1320%, C#245)

(1) —al(a+2b—c) (2) (2z + 3y)(2z — 3y)
= —a2 — 2ab + ac = (255)2 - (3y)2
= 4x2 — 9y?
(3) (5z — 3y)? (4) (2a +b)(2a — 3b)
= (5z)%2 — 2+ 52+ 3y + (3y)? = (2a)?+ (b—3b) * 2a + b (—3b)
= 2522 — 30xy + 9y? = 4a? — 4ab — 3b?
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3. ROXZEHE L. (SH18F, Afk25, Bi40®, C#H147)

(1) 3a(4a — 2b) (2) (x+4)(z+5)
=12a2? — 6ab =x2 4 9z + 20
(3) (z+5)(x—5) (4) (a — 4b)?
=x2—-25 = a? — 8ab + 16b2

4. RXOXZERHT L. (S35, AfKs508, Bfk14 208, C#24)

(1) —abc(a — 2b+ 3c) (2) (42 + 3y)(4x — 3y)
= —a?bc + 2ab?c — 3abc? = (47)% — (3y)?
= 16x2% — 9y?
(3) (7x —3y)? (4) (2a + 5b)(2a — 3b)
= (T2)? =2+ Tz - 3y + (3y)? = (2a)? + (5b — 3b) * 2a + 5b * (—3b)
= 4922 — 412xy + 9y2 = 4a? + 4ab — 15b
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